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Relationships between 3 mappings

Direct Mapped
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Set Associative

One-way set associative
(direct mapped)

Fully Associative: remove set index ook 129,258
3 Two-way set associative
Set Tag Data Tag Data
- Processor Address (32-bits total) z 0
1
Tag Set Index | Block offset 4 5
Total size of $ in blocks is equal to > 3
number of sets x associativity. For 6
_ fixed S size and fixed block size, 7
Same format Of address. increasing associativity decreases sy sebssogkiiive
. number of sets while increasing )
If_eaCh set maps to N numbers, then: number of elements per set. With | Set Tag Data Tag Data Tag Data Tag Data
Direct Mapped: a+log(N)+c eight blocks, an 8-way set- 0
. L. associative $ is same as a fully 1
Set Associative: a+tn_w+(log(N)-n_w)+cC | associative 5.
Fully Associative: remove set index Eight-way set associative (fully associative)

Tag Data Tag Data Tag Data Tag Data Tag Data Tag Data Tag Data Tag Data

N N N I



Direct Mapped Cache
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* One word blocks, cache size = 1K words (or 4KB)
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What kind of locality are we taking advantage of?






